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Economics
Paper 11

EOMIE
gyatsrent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

U Sed. Wd U WrE.

Which of the following strategies

about unbalanced growth is right ?

(A) Deliberate imbalance in favour
of some sectors

(B) Simultaneous investment in all
sectors

(C) Big push

(D) Balanced regional development

In Solow’s model, the economy

achieves steady state growth path

because .................. .

(A) capital-labour ratio adjusts
through time to the equilibrium
value of the ratio

(B) the coefficients of production are
fixed

(C) population growth is constant

(D) the technological change is

labour saving

AN A = faY LT
Cllcddlcdbenl enlVidl oqor=qdl HAJld

e gEEE A g 2

(A) fraes aved Iquas TTwdd
frgtor ot

(B) e &HEN TehTe odl e[k 0l
(C) HI3 YT
(D) Sdfera asia foewm

Hrell A= gt FiaaEme, sTdee

(A) YEaad- o9 UK HIATEY T
Tdeeiell TR B

(B) A Uk feR ST

(C) ciruea gt R o/™d

(D) TIAMICHS deel STATE sreid S0
3Tl
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3.

In endogenous growth models,
which of the following variables is

considered endogenous ?

(i) Learning by doing

(z1) Technological advancement
(217) Investment in human capital
(v) Population growth

(A) Only (i7)

(B) Only () and (i)

(C) Only (@), (i) and (@v)

(D) Only (), (ii) and (i)

In case of Hirschman’s unbalanced
growth theory, which of the following
statements is not true ?

(A) The
strategy is especially applicable

unbalanced growth

to underdeveloped nations

(B) Development occurs via excess
capacity of social overhead
capital

(C) Development occurs via
shortage of social overhead

capital

(D) Development occurs via equal
simultaneous growth of social
overhead capital and directly
productive activity

JUN - 11225/11—C
siasia gt UfammHed, qeietisht v
T 3TASd A SR 2
(i) g o

(i) TARAACHS GEROT

(iii) A WA T[T

(iv) hEE Jgaeht

(A) (i)

(B) ek (i) 30T (iid)

(C) ®H (i), (ii) WO (iv)

(D) e (i), (i) 30 (idi)
Tk S faum drg A ?

(A) sraqfaa fawma eivor favisa:
Hfererfid AT w1 B

(B) TMIfSTeh STER ST s dalr=Al
SIARERT SHATHTHIA foeRr R
Bl

(C) TSR STMER AT e ddr=Al
qeaeTfHdiqa forehrd 9o il

(D) WEISE TUR L= qiead o
JAY IUGH IUHA ArAT THHE
o FESUTAT A I Efiqd fashm
o et




[=]
[=]
5

According to Thomas Piketty, which
of the following forces is the main
driver of wealth inequality ?

(A) rate of saving < rate of

investment

(B) rate of saving > rate of

investment

(C) rate of return on capital > rate
of economic growth

(D) rate of return on capital < rate
of economic growth

If the bank purchases more of
foreign exchange than the selling of
it, then it will have a ...................
position.

(A) Short
(B) Long
(C) Oversold
(D) Squared

An economy with long history of
extensive trade barriers, decides to
switch to totally free trade. What
is most likely to increase in the
short-run ?

(A) Government Revenue
(B) Inflationary pressure

(C) Consumers’ surplus

(D) Profits of all domestic companies

5.
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oty fyedl M= A, Jeietdeh! hivrd]

T HU fasmde Jedq: aer qal 2

(A) Il X < TAAUERTET T

(B) ==l ST > TEAUEHET R

(C) HrSaIameicl WA= & > 3fY®
EECIE

(D) eI TATAT & < AR
LG

SR Shd S GHIOMG Wehid oo

AT TR SATIR &R 3Tecsl
FI AT STCIFRTATGET HIMHE
ae foga F|a ?

(A) &R Heyga

(B) woameren g

(C) U=l U Ao e

(D) @RI S FHEE

ofio



* [E5E

o

Which of the following is included
in the capital account of India’s

Balance of Payment ?

(A) Merchandise trade

(B) Banks’ overseas deposits

(C) Insurance payment

(D) Services rendered to US citizens
by Indian hotels

State which of the following

statements are correct or incorrect ?

(I) Mercantalists believe that a
nation could gain in trade only
at the expense of other nations,

as trade is zero-sum game.

(IT) Mercantalism, though declining,
is alive and well in the twenty-

first century.

(A) Statement (I) is correct and (II)

is incorrect

(B) Statement (I) is incorrect and

(II) is correct

(C) Statement (I) and (IT) both are

correct

(D) Statement (I) and (II) both are

incorrect

8.

JUN -11225/11—C

W TeTdeh] HIMEAT THTAT  WIAT=T
FIERATAME A Wigdell e Bl ?

(A) 9% AR

(B) epre faaelt eft

(C) fomn <=

(D) ¥R BieeTe STARRT ARTRERHT Ta
et

EeAteTdeh! vt faem dr fRan erir

aed, d 9.

1) =R fordren S foeams oTg i
ARG Th1 THedeg Tehd, HIOT
MR 7 I[F-TIES 3.

(II) SIRARE S HH B 3Tl T4,
TehforTeA1 et fSre St =Tl
e,

(A) fagm (1) A enfor faem (1) sEr
e

(B) faum (1) sm@mg sufor (11) ara 31

(C) faum (I) =7t (I1) S8t A 3Ted
(D) faum (1) sufor (1) =T T4 31




10. In the absence of trade, a nation’s

production possibility frontier is

JUN - 11225/I1—C

10. AR STUReAdd, Terean Isgr=
ST HEEd HaReia @t

also its ..oovvvveeennene. I STYA.

(A) Opportunity cost (A) Tt T

(B) Exchange frontier (B) EEIIL!

(C) Consumption frontier (C) SueT e

(D) Autarky frontier ) N

11. () The volatility of the bond | 11. (I) I SIS e & FEWFIT=A1
market is in direct proportion to
_ M= FeAfasTe A et
the monetary and economic
policy of the country of the IOT=AT 9 GHOMG 3794,
participant.

(IT) Bond market is a part of capital (In) e Bl R
market, serving platform to T ST, T Al
raise funds for the public sector
companies, govt., and corporates. THRES, el SURTArESt = -

(A) Statement (I) and (II) both are e Far 29 o
incorrect

(B) Statement (I) is correct but (II) (A) e (D) Afor (IT) ST SR Aed
is incorrect

(B) faum (1) g & (1) = 31e

(C) Statement (I) is incorrect and
(II) is correct (C) faem (1) e sufor (1D 47 o8

(D) Statement (I) and (II) both are
correct (D) fagm (D) sufor (1) =1 A 7R
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1Ezl. Match the following : 12. Sreal ool :
(@) Absorption Approach (@ foom gfeswm
(b) Banking sector financial assets (b) dfRT SETdier sTfeie Hrermm sTfor
and liabilities I
(c) Propensity to inflation (c) TeaTEE! Foh
(d) Inflation (d) TTHE
(i) Relative PPP () 9roey g
(ii) Capital Account () wEaett @
(ziz) Alexander 1952 (iii) ITAFATSY 1952
(iv) Magnifico 1971 (Gv) HfAfwER 1971
(@ ®) @© @@ @ B © (@
A) Gi) G) G @) (A @) G Gv) @)
B) () O @ 6@ B) Gv) @) @G G
(C) Gv) @) @ @) ©) Gv) @) @ @@
D) @) Gu) @ (o) D) @ ) @ (o)

13. Besides the static gains, which of the | 15 <z g o TR, Feememsr=ifafam
following dynamic gains nations o R o TR i
would receive after forming the
customs union ? ) R
(A) Economics of scale (A) FROAGERT firerd st
(B) Administrative savings (B) WIS =
(C) Greater bargaining (C) el =t vkt
(D) Trade creation (D) =amaR fafddt

EE
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15.

Which of the following is not an
assumption of the Heckscher Ohlin
theory ?

(A) The production functions are
same for commodities and for

countries

(B) All production functions are

constant returns to scale

(C) There are differences in the
factor intensities for two

commodities

(D) Labour and capital are perfectly

immobile between countries
Intra-industry trade :

(I) Widens the choices for consumers

in each nation.

(IT) Reduces the

competition

degree of
among
manufacturers of the same class

of product in each country.
(A) Both the statements are true
(B) (D is true and (II) is false
(C) (D is false and (II) is true

(D) Both the statements are false

JUN - 11225/I1—C

14. EetcAdeh! v geR 3efa fagam

15.

TEideh el ?

(A) IART T TS 0T ILTES
HHHA e

(B) &d 3cuied 1 feer A Yo
(returns to scale) Tefarard

(C) T I T ToaHEd Hish
3

(D) =¥ T Wead SeMHE Ui e
ES|

HAT-3AN AR :

(D) e Tl Teehiid! feret fereaiia
.

(I) e Sdiel GHM S Scei=an
SACHHLT TIET THOT HHT .

(A) = faeam v emRd

(B) (I) ¥ 3T 3701 (II) § 36 3T
(C) () 318 37 37fvr (1) & 6 3
(D) = faum s\ ofed

ofio
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17.

18.

mm

For the production function
Q = 20K%-°1.9- derive K = AAL) when
the isoquant Q = 100.

(A) 25K71
(B) 25171
(C) 25K
(D) 25L

Find the determinant of matrix

4 6 1
A=|2 5 2
9 0 4 ‘
@) 31
B) 63
(©) 80
D) 95

Derive the marginal revenue
function for the demand function

g = 400 - 0.1p.
(A) 4000 — 20q
(B) 4000 + 20q
(C) 4000 — 20p

(D) 4000 + 20p

16.

17.

18.

JUN -11225/11—C

Q = 20K%5L05 S werres i,
Q = 100 & K = AL) = e .

(A) 25K1

(B) 25L71

(C) 25K

(D) 25L
4 6 1

A=|2 5 2| 3 9RO wf@l
9 0 4

R hlel

(A) 31

(B) 63

(C) 80

(D) 95

q = 400 — 0.1p &1 HETU ThefTehilal

| It BT dIR .

(A) 4000

20q

(B) 4000 + 20g

(C) 4000 — 20p

(D) 4000 + 20p

10



19.

20.

21.

What is the point elasticity when
price is 12 rupees for the demand
function P = 60 - 3q.

(A) 0.25
(B) 0.5
(C) -0.25
D) -0.5

What will be the status of average
variable cost (AVC) marginal cost
(MC) is less than AVS ?

(A) declining

(B) increasing
(C) constant

(D) unpredictable

If the value of r (coefficient of
correlation) is less than the probable

error, it means :

(A) The value of r is not at all
significant

(B) The value of r is significant

(C) The value of r is moderately

significant

(D) The value of r is very highly

significant

19.

20.

21.

JUN - 11225/I1—C

forad % 12 T8 P = 60 — 3¢ A
AN e fog dafasmd wE

A ?
(A)

0.25
(B) 0.5
(C) -0.25
(D)
A T GUE g SaIueT St
ST T G IgeTe A et s
A ?

(A) =it
(B) e
(C) fer
(D) AT

-0.5

S (FREEY UR) o Hod A

T HH oA W T WIS
(A) r = qoa AfSerd e "
B) r 3 eI AU TR
(C) r 3 oI HeAH AT T

D) r 3 oI U I=9 A 3T

e
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23.

24.
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If we toss three coins, the possible
outcomes of appearing two heads can

be written as :
(A) 3C,
(B) 3C4
(C) 3C,
(D) 3C,

The ‘Bernoulli Distribution’ is

associated with :

(A) Multinominal Distribution
(B) Binomial Distribution

(C) Hypergeometric Distribution
(D) Poisson Distribution

Which of the following is not

described as a dependent variable ?
(A) Endogenous

(B) Regressand

(C) Controlled Variable

(D) Stimulus

22.

23.

24.

JUN -11225/11—C

SR SO 9 A0 Behedt @ S CBrar’
feguar dyren oftomm =18 fafea <

RMehdld
(A) 3Cq
(B) 3C4
(C) 3C,y

D) 3C,
s faau ar=mel wefad ome
(A) wgual faaem

(B) <formel forawm

(C) AfayfHd=

(D) drEE feaawm

TTATTUh! ShIvC TehTel 3Tacitod =cd

WA U el S A ?
(A) st

(B) wHIfHa

(C) frafa ==

(D) SwISTh

12



25.

26.

27.

When the variance of financial time

series varies over time, which of the
following models is more suitable ?

(A) AR

(B) MA

(C) ARMA

(D) ARCH and GARCH

The direct application of OLS method
for Simultaneous Equations leads
to :

(A) Consistent and Unbiased
Estimation

(B) Unbiased and Inconsistent
Estimation

(C) Consistent and Biased
Estimation

(D) Biased and Inconsistent
estimation

Type one error refers to :

(A) The probability of rejecting the

false hypothesis

(B) The probability of rejecting the

true hypothesis

(C) The probability of accepting the

false hypothesis

(D) The probability of accepting the

true hypothesis

25.

26.

27.

JUN - 11225/I1—C

g1 foxiTa et shifHeh™ TR0l ShiaTied
SCAd, do8l Weladeh! whIod Gfqams
Aty AT e ?

(A) AR

(B) MA

(C) ARMA

(D) ARCH a1f1 GARCH

ThaMTEsh GHISHLOT OLS ‘Kﬂ?ﬁ% e

ST el TEd W § WD B e
(A) gaTa enfor 3l iesher
(B) SMfyTa oTfoT STgETT Wehe
(C) gaTa omfor ifya gmekhe
(D) SAfea STftT STETd Ueehad
YHR Th FoI § HefHd &

(A) TR TRIdeh ARRUATE! IR

(B) ®R TEIdeh ARRUATET IR

(C) @i TEIdeh THIhRUATE IRl

(D) ®R TRIdh RIS

e
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28. Which of the following is a Dorbish | 28. w@refieids! vl SRfewT A Sl
and Bowley’s method of constructing ST TR SHEvar= TeEd o 2 fd
an index, where L is Laspeyres and |21 =TT A ) e e
P is Paasche’s index ?

AR,
(A) L+P
(A) L+P
(B) L xP
(B) L xP
L
= L
) P (©) 5
L+P L+P
(D) 5 (D) 5

29. Which of the following is correctly | 29. Wrefieiyen! shrorar faemor TorepT= =
defined as  coefficient of I Ll 2
determination ?

T
1-— i
Zﬁiz (A) Zyiz
A 1-3
2y
> &7
:2 B) 1-5_
Eyi
T}
Y il © 1-55
1-=- > x:
(C) inz X
~2 > a2
u; 2
D i D) 2
14 =] 5 =]



30.

31.

The term demographic dividend is

conceptualized by :
(A) Warren Thompson
(B) Landry

(C) C.P. Blacker

(D) David Bloom and David

Canning

The first stage of demographic
transition is not so harmful

because .................... .

(A) Birth rate high and death rates

are low

(B) Birth rate and death rates are

medium

(C) Birth rate and death rates are

low

(D) Birth rate and death rates are

high

30.

31.

JUN - 11225/I1—C

AIh I GRS AT AT ITeRT=
HHhoudl I gR el S

(A) dE grFaET

(B) &l

(C) H.dl. =T

(D) fwe =@ st e &M

AFACIRMTS T GHATET qfgeln o

SRl BIHhRE TRl hRl

(A) S/ T S AT Jog <X

Al

(B) S T 30T Hog <X HEAH

(C) S T emfor g & HH

(D) S T AN FIA YA SR

15
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32.

33.

mm

Choose the correct statement for the

Positive Externality :

(@) People living nearby area and
the factory workers suffer from

the deteriorating air quality

(b) Real estate price would likely to
increase because of construction

of metro

() Research and development
creates benefits that helps

society as a whole

(d) People living near airport suffer

from high noise levels
(A) (a) and (b)
(B) (b) and (c)
©)

(D)

(a) and (d)
Only (a)

Which of the following is the largest
source of water pollution in major

rivers of India ?
(A) Untreated sewage

(B) Agricultural Development

JUN -11225/11—C

32. HHRIHS dREa 9y faum faer .

33.

(@) TSI GREd TRV ik S1for
FRETATATA  HTHTRIAT T =

TAEAe oERE AE gl

A= AEHHH 3T gee=
foradt aTevar=l YR SR
e 3TIfo7 foeheTes Tqul FHTSer
Ted UM ®Ee A B
foAmdaSTae TR ehTT ST
AT S Bl

(@) 3T ()
(b) T (¢)
(@) 30T (d)

)

(c)

(d)

(A)
(B)
(©)
(D)

IRANTE Y@ TeaEd  STarggsrome
Y@ HRU WAUh! R e 2

T (a)

(A) Ui T Herd Fieuro

(B) vt &Emen fas

(C) Unregulated small scale .
et (C) ety wesgam
industries
(D) Religious practices (D) =nfter gen
16



34.

35.

Kyoto Protocol assigned
responsibilities for developed and

developing nations.

(A) higher

(B) common but differentiated
(C) equal

(D) narrow

Which one of the following is the
correct sequence with reference to
the density of population of the

states according to census 2011 ?

(A) Karnataka < Maharashtra <

Bihar < Uttar Pradesh

(B) Maharashtra < Karnataka <

Bihar < Uttar Pradesh

(C) Karnataka < Maharashtra <

Uttar Pradesh < Bihar

(D) Maharashtra < Karnataka <

Uttar Pradesh < Bihar

JUN - 11225/I1—C

34. HEI Wehiaqesd faerfaa smfor fasmg-

35.

HedaT TR

(A) ==

(B) HHEh YUT e
(C) HH

(D) EHfad

2011 =41 STTOUTHIER T e -

T TG U Hid TTeiieTieh] shiord

HH g M ?

(A) FACH < TR < TR < ST

(B) HERT < FAleeh < TR < STues

(C) AleH < HENR < IWIY < TR

(D) TR < HEH < JWII < foer

17
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36. Population explosion happened in | 36. T @W@W@_ﬂﬁ@ﬁ?
India because of ................. . el
(a) a hlgh birth rate (a) 3=g S X
(b) a relatively low death rate b) qEER FH g
(¢) Immigration (©) e
(d) Zregﬁtivily moderate birth and ) W T S=g ST 7Y
ch ea ra: o I g faen
oose correct option :
P (A) (@) 3 (b)
(A) (a) and (b)
(B) (a) 3T (c)
(B) (@) and (c)
©) ®) (C) (b) 3 (c)
and (c¢) .
(D) (a) and (d) (D)r‘(a) L (d) X ) )
37. Consider the following lists and 87. BEld AT foaRE e A
choose the correct code given below : et
Religion Group o e
(@) Hindus (@) %Q
(b) Muslims (b) Y™
(¢) Sikhs () @
(d) Christians d) Tgs=m
Population Growth HAREET FaT I 2001-2011
Rate 2001-2011 (L) 15.5%
® 15.5% i) 16.8%
@) 16.8% (i) 24.6%
) 2485 w 4
w) 8.4% i
Codes : ’
(A) (L) (ii) (iii) (iv) (A) (l) (ii) (iii) (iv)
B) Gi) G Gv) G B) @) Gi) Gv) @)
©) Gii) Gi) Gv) @) C) Gu) @ Gv) O
D) @) Gi) () @) D @ @) @ ()
18 [=] 3 [m]



38.

39.

Adolescent population is the

population falling in the age

STOUD .eovnevveeeiieennne .

(A) 1 to 15

(B) 1 to 10

(C) 10 to 19

(D) 10 to 25

Who identified industrialization,
urbanization and modernization as
the causal mechanism in bringing

decline in mortality and fertility ?

(A) Frank Notestein

(B) Malthus

(C) Marks

(D) Coal and Hoover

38.

39.

JUN - 11225/I1—C

TSI AIhEEA RS

FANEA I AREE B

(A) 1315

(B) 14 10

(C) 10 4 19

(D) 10 9 25

STRfTeRTeR0T, TEdeRTuT ST SRRt

B TIe SO Y& ShHT ShudTEral

SHRONYA 0N U v Shesect ?

(A) Theh AREH

(B) HegH

(C) ARy

(D) ki o ge

19
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40.

mm

Match the following :

List I
(Economists)

(@) J. H. Boeke

(b) Benjamin Higgins

(¢) H. Myint

(d) Simon Kuznets
List II

(Name of the books)

() Economics and economic policy

of dual societies
(z1)) Economic development

(zi1) The economics of the developing

countries
(tv) Modern economic growth
Codes :

(@ &) © @

A @ @ @) @)
B) @ @ @) @)
(€ @) @ @ @)
D) @ 6@ @ G

JUN -11225/11—C

40. SirE S

il |
(3refoTTER)
(@ 3. TE AT
(b) et fafrw
) Ta. fie
(d) 99T FHIAH
gt 11
(q&TehTl viTeien)

() T TS tefeTe anfur enfiew
IRy

(i) 3Tt foepm
(i) foreremeiial Qo stefmes
(iv) sNYfTw STk g5
Hehdieh

(@ B (© (@

A @ @) @G Gv)
B) @ O @) @)
© @) @ @ @)
D) @) @ @) G60)
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41.

42.

43.

The ‘Technological Dualism’ in

underdeveloped countries could be

broken through ................. .

(A) a gradualist approach of
development

(B) family planning

(C) planning for increased
productivity in rural sector

(D) focusing on Information

Technology sector

‘Digit ALL
Technology for Gender Equality’ was

Innovation and

the theme for International Women’s
Day in the year

Women.

(A) 2020

(B) 2021

(C) 2022

(D) 2023

In 1947, C.P. Blacker attempted to

41.

42.

43.

JUN - 11225/I1—C

JAfashfad AL ‘dEEE g’

(A) fasmrn sk gftesn
(B) #ga frem

(C) TTHIUT &AIe ScdIgehal  aTerara
IREISE]

(D) Hifgdt T &Se) A whigd w0
‘fefSte a1ta ; 3Ry 3fe STdrS ™R

STASE Afget fGAr UN 984 gR =i
el e (Theme) 2

(A) 2020
(B) 2021
(C) 2022

(D) 2023

1947 H&Y HI.WY. soloht AT AThGEI-

identify the ................ phases of TS GehAuT T HEL hal
demographic transition. 3.
(A) Three (A)
(B) Four (B) =R
(C) Five (C) U=
(D) Six (D) ==t
21 OO
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44.

45.

mm

With reference to the ‘Banks Board
Bureau (BBB), which of the following

statements are correct ?

(1) The Governor of RBI is the
Chairman of BBB.

BBB recommends for the

(2)
selection of heads for Public

Sector Banks.

(3) BBB helps the Public Sector
Banks in developing strategies

and capital raising plans.

Select the correct answer using the

codes given below :
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (1), (2) and (3)

‘Rapid Financing Instrument’ and
‘Rapid Credit Facility’ are related to

the provisions of lending by ........... .
(A) Asian Development Bank
(B) International Monetary Fund

(C) United Nations Environment

Programme Finance Initiative

(D) World Bank

44.

45.

JUN - 11225/T1—C
‘geq € A (BBBY =T G4,
WeAeyen! v fae™ sieR a2

(1) RBI 2 7&K BBB T 27&987 31

BBB HaSi{eh &3t slehi=Al

e HegEe ReRE wd.

(2)

BBB WESifaer QATAIA Sem1HI
ZRTIAT A S0 HiSad JGr=
A TIR HI0GE HEd hid.

(3)

TelTel Hehdldh ATTEd 4rd I Hae :
(A) ®a (1) TfoT (2)
(B) ek (2) U (3)
(C) e (1) 3mfur (3)
(D) (1), (2) =7for (3)
H e WA gRghe ! st 3

QUATAT ARGRIeN HatHd 3.
(A) T foem o
(B) SAqwrsra Ao fAef

(C) gAEEE v T=GgEHHS G
B SR e
(D) wFfaes o

22
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46. Match the following in context to | 46. G20 Tfdelgal =1 HeHid @eitel Ssireal
G20 Engagement Groups : Seodl :
Group e
) C20 ®) C20
() L20 © L20
(d) T20
(d) T20
Working Area
wEd &
(z) Energy, Climate and Resource )
Efficiency (@) Soi, M S0 THEH HEd e
(i) Climate policy and finance (i) BHE R0 Ao foad
(iii) Sustainability (Energy and (i1i) TMeEaar (ST emfur geTH)
Climate) (o) FTT feA
(tv) Interests of Workers i
Codes :
(@ ®) (© (@
(@ B) @ (@)
: . U A @ @ G (o)
A @ @ @ GG
B) ) Gv) Gi) G ® @ ) )
© O (i) () (D) (© O (@) ) D)
D) G) Gi) Gv) @) D) @ @) @ O
47. Which of the following is not a | 47. Trefterieh! ot e MUDRA s
scheme offered by MUDRA Bank ? Sorefl T ?
(A) Shishu (A) fergp
(B) Kishor (B) el
(C) Tarun (C) aru
(D) Nari (D) =’
23 [m] 35 [
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48. National Health Policy 2017 has | 48. UsdE RFg &R0 2017 3 2025 W
recommended an increase in the TR STREEA = GDP =0
Government’s health expenditure [ . 55 T a1 HAE RTERE
upto ..oooeeervinnnnne percent of GDP by Fft e
2025

(A) 2.0
(A) 2.0

(B) 2.5
(B) 2.5

C) 3.0
(©) 3.0 ©

D) 3.
D) 35 D) 3.5

49. Which of the following sequence is | 49. WIGRIE THIT siehiea1 9T Wisa fewamem
correct about share capital in WATUeh! Ul H a7 3T ?
Regional Rural Banks ? . .

(A) &g THR > YT dh > T
(A) Central Government > Sponsor
Bank > State Government
(B) Sponsor Bank > Central (B) WIS S > Hg WHN > T4
Government > State TIHR
G t .
overnmen (C) TSF HTHN > g FhN > JHEIS
(C) State Government > Central S5
Government > Sponsor Bank
(D) Central Government > State ) E\B‘g FRPIL > S S >
Government > Sponsor Bank Sfeh

50. Atmanirbhar Bharat Abhiyan was | 50. 37cRfsR YRa Af=ERT =90 Yauem™
announced on .................. by Prime R T T o Tfeae el
Minister Narendra Modi.

A) 12 5= 2020
(A) March 12, 2020 @)
(B) April 12, 2020 (B) 12 el 2020
(C) May 12, 2020 (C) 12 #H 2020
(D) June 12, 2020 (D) 12 S 2020
24 [m] {5 [
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51. India’s own Target to Achieve Net | 51. gRare f7eres Teohd hTeH ScdsiH MSvI
Zero Carbon emissions is by the Sfeseg qutras e
VeAr .ccceeeeereeannen. . A) 2050
A 2059 (B) 2040
(B 2040 (C) 2060
) 2069 (D) 2070
(D) 2070

52. Match the following : 52. Sfrest qeAl

. gt 1
: e . (famr ammam)
(Finance Commission) @ 1991 fae s
(@) 12th Finance Commission
(b) 13th Finance Commission ®) 139 ferw ST
(¢) 14th Finance Commission (c) 1470 ¥ ST
(d) 15th Finance Commission (&) 1571 fo
List II et 11
(Chairman) (3reT8)
(i) Dr. Vijay Kelkar (G) Sf. foo shast
(ii) Dr. C. Rangarajan (@) = . TReA
@iii) N. K. Singh (i) . &. fam
(v) Y. V. Reddy (v) @@ =& G
Codes : Hehdich :
(@ ®) (©© (@ (@ &) (©© (@
A @ @ @) @) A @ @@ @) (v
B) @) @ @) ) B) @) @ G @)
(C) @) Guv)y G @ ©C) @) Gv) @) @
D) Gv) @) @ @) D) Gv) G @ @)
25 [=] E
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53.

54.

55.

mm

The Non-Scheduled Banks are those
which have not been included in the
.............. Schedule of RBI Act 1934.
(A) First

(B) Fifth

(C) Third

(D) Second

Mutual Funds in India have to be

formed as .................. .

(A) Trusts

(B) A Joint Stock Company

(C) A Non-Bank Financial Company
(D) An Agency

The Tarapore Committee appointed
in 1997 was for which of the

following purposes ?

(A) To work on Current Account

Convertibility of Rupee

(B) To work on Capital Account
Convertibility of Rupee

(C) To work on Current and
Capital Account Convertibility
of Rupee

(D) To work on Partial Convertibility
of Rupee

53.

54.

55.

JUN -11225/11—C

STR-3TYfad SehT a1 TR SAeh] STHATT
F":lT R%"OF a\"a; RIS 1934 = o
FYfad 3d @

(A) dfeen
(B) dr=re
(C) fw==n
(D) g&=

(A) =™

(B) TgF Wigad U

(C) dd faxig ot

(D) 3TfYaRTo

1997 ATl dRTIR Gl L9 shivdr=l

3YT HF Bl ?

(A) T 1] EREE TRETEER
HTH  HLOIHS

(B) 9T MiEdeil Wiealice! GRadHIEkeR
I HITIHS

(C) T9Ir=N <] S HiSael TR
TREd-IEdeR. hTH HITIES

(D) A=Al 3R Ofediada] shH

FHLOITS!
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56.

57.

The Prevention of Money Laundering

Act was passed in the year ............. .

(A) 2002

(B) 2003

(C) 2004

(D) 2005

Which of the following is established
for resolution of the Non-Performing

Assets in India ?

(A) National Non-Performing Asset

Company Ltd.

56.

57.

JUN - 11225/I1—C

Y amfefer =geer wfaaw erfufem

(A) 2002
(B) 2003
(C) 2004

(D) 2005

YATHES EToileTdeh] M=t €T

3T HITHTT T HISauI™e!

et ?

(A) T STcaRs  HioHd hOH]

LRI

(B) National Performing Asset (B) USE 3culgsh  HIQHTT S A
Company Ltd. Haifed

(C) National Reconstruction Capital (C) T JREAT HISaAl  sh 9l
Company Ltd. wifed

(D) National Asset Reconstruction (D) TS Ao qHEAT Rl
Company Ltd. BRI
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58. Which of the following is a Refinance | 98. TrefeTieh] Il WA RylERRSE
Institution in India ? 3Me ?
(A) National Housing Bank (A) T TehEi g
(B) Exim Bank (B) TR S
(C) General Insurance Corporation
(C) WM foam wemees
(D) Tourism Finance Corporation
of India (D) “RdT™ v foax wemes
59. The National Stock Exchange was | 59. el Tfeh ToE=IST=l TIqA1 770
setup in .................. . AL Al
(A) 1990 (A) 1990
(B) 1991 (B) 1991
(C) 1992 (C) 1992
(D) 1993 (D) 1993
60. The reserve money in India is also | 60. RISt Tredtel dgmeqr ST
known as ................ . FRUIAI.
(A) Low powered money (A) FH reRimed T
(B) High powered money (B) s1fusr wiforaemmedt S
(C) Secondary money (C) =W T
(D) Advanced money (D) wd T
28 OO



61.

Why does a firm under perfect
competition continue to operate in
the long run despite earning only
normal/zero profits ?

(A) The firm operates at socially
optimum level of output in the
long run

(B) The firm achieves maximum

productive efficiency in the long

run

(C) The opportunity cost of the self-

owned factors is already being

recovered by the firm in the
long run

(D) All the firms are operating

under identical cost conditions

in the long run

JUN - 11225/I1—C

61. U TS ISANTHE STl T

HIYRO/IE TR FHITRI HEW 6l

TRd 2

(A) STHRERE AT HHI TGS

T UTdesial] ShIEd STEd

(B) TrelehTesid SCANTHET HEWH 3G H

HETHAT W Hd

(C) TrefmTara  ITATTETLN 3w

AT = 3G Hhren el

T 91 &led A

(D) el e IANTHEA THE

feordia wrda sra

29
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62. What is the short run supply curve

mm

of a firm in a perfectly competitive

market ?

(A) The part of the marginal cost
curve that lies above the
average cost curve

(B) The part of the marginal cost
curve that lies above the
average fixed cost curve

(C) The part of the marginal cost
curve that lies above the
average variable cost curve

(D) The part of the average variable
cost curve that lies above the

marginal cost curve

62.

JUN -11225/11—C

U1 TN SGARTHEIET STeIahTeld JLaal

I WIS w1 ?

(A) TE Td gwedd @Ed Td

EEJCINRIN

(B) T feer T aghedial 9iHd T

JhT=l |

(C) T SEaTedl T Sshreaiel drEid

Td gl W

(D) HH| T ehreie SUE Sl

TE gl T

63. When the Total Product (TP) is 63. STR1 THM ST HEWH T, T

maximum, the Average Product (AP) Sere T LI
IS eeeirieieinnnn. and the Marginal Seqre ST
Product (MP) is ................... . (A) HeaHm, feam
(A) maximum, minimum (B) fFam, "o
(B) minimum, maximum

. (C) ¥RUR, I
(C) Decreasing, zero
(D) Zero, decreasing (D) 3, =R
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64.

According to Bergson-Samuelson

social welfare function approach,

social welfare is maximized

when ..o, .

(A) The social indifference curve is
tangent to the utility possibility
curve

(B) The social indifference curve

intersects the utility possibility

curve

(C) The social indifference curve is

tangent to the production

possibility curve

(D) The social indifference curve

intersects the production

possibility curve

JUN - 11225/I1—C

64. SHI-HRTATT HHINSH Heaw &

gfehMER, Siea

A, Hear HedH 8id.

(A) GHTfSTer TewdT agh SYANTAT SerRId
EEAGINRSN IS Nl

(B) GmTfSier qewdt agh SUAINTAl SR
EEASIMEEGI

(C) ISR LIl ash ScdIg- I dl
EEAGINRS NS Nl

(D) QTSI TeEUdl agh Scag Sadl
FhTeAT B!

65. To maintain price leadership, | 65. fehAd Al hraH q@UIES),
a dominant firm must ensure 3T SIS T3/ TR SaANTHEe
that ..oovvveeeeereveennn. : el et
(A) the small firms do not produce (A) B SRR ST 2T FINTHR

more or less than the level I UTASeT S feRar ST
agreed upon market sharing 3ET O e
agreement - .
(B) itgsoes not charge a price higher (B) e . AL
, sfesh fhod STRRUIR Tt
than the market price
(C) the small firms do not improve (C) WM AT SqreAral it
the quality of the product FURUR I
(D) the small firms do not introduce (D) @B SANEEA A=l STHA
innovations STUTOTR. AT
31 [=] {3 0m]
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66. In Chamberlin’s alternative

mm

approach, why does the excess

capacity of a monopolistically

competitive firm emerge ?

(A) Absence of active price
competition despite free entry
and exit

(B) Active price competition and
free entry and exit

(C) Active price competition

(D) Free entry and exit

67. Which of the following term is more
important in welfare economics and
in designing government policy ?
(A) Indifference curve
(B) Consumer surplus
(C) Equi-marginal utility

(D) Revealed preference

66.

67.

JUN - 11225/I1—C
TRGERIGH e da  ITATHEHE

Afafed guar 1 fmor B9 ?

(A) T 9aw1 9 TR s1gael fhamia

forua e v

(B) foramfier forma waer anfor gt wawr

9 e
(C) fwamte feaa waut
(D) I v 9 A

HEAUTRIT TR 30T TR SRom=AT
faftiiimes ErelicTten! ShIv! HehedT A
Tear=t g ?

(A) 3ITEAA 9%
(B) Uge  IfERe
(C) TH Y| Sy

(D) 2AfTeTa gddt
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68.

69.

Which of the following is an example
of adverse selection ?

(A) Buying a used car

(B) Buying health insurance

(C) Buying a high-quality product

(D) Investing in capital market

Which of the theorems of welfare
economics considered that the
general competitive equilibrium is
Pareto Optimal ?

(A) Only first theorem of welfare
economics

(B) Only second theorem of welfare
economics

(C) Both the first and second
theorem of welfare economics
(D)

Neither the first nor second

theorem of welfare economics

68.

69.

JUN - 11225/11—C
Tefeden! SV Tfiehd e 3]m@I
e ?

(A) YA R ERE H]
(B) g fomm @Rl o
(C) 3=a-TUE™ SR BRE! 0!

(D) wieaell SN Jaeveh Lol

TR STV I THAT
foramR et @t T TaEicAsh e el
TR I ?

(A) FAEHR SIS Do GIH

T

(B) HeaUhRRl HALMEAE heles T
EER

(C) HeamRR stefereT e ufee
T gfedta wom

(D) AUkl sreferere ufed fohan
T T AR
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70. Which of the following explains the

mm

concept of risk ?

(A) When the variability of possible
outcomes is very high

(B) When the variability of possible
outcomes is very low

(C) When the variability of possible
outcomes is constant

(D) When the variability of possible

outcomes is highly accurate

71. Which of the following statement(s)
is/are true for the assumption of Pure

Competition ?

Select the correct answer from the

codes given below :

(@) The firm in pure competition is

a price taker

(@) The firms produced

homogeneous products

(zii) This market includes a large

number of firms

(tv) The firms produce heterogeneous

products
(A) (@), (iti) and (iv)
(B) (i) and (ii) only
(C) (i1) and (iii) only
D) @), (@) and (ii7)

70.

71.
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WATAYH] VA SEH Heheddl T
Hd 2

(A) Sieg "y fsaei=t aRadeiierd
Ty S STEd

(B) Siog1 Hurer fAeuxii=n afad-sierdn
Ta FHH

(C) Siegl |urey fousii=t gRed=eiterdl
feer 31d

(D) Sreg1 FereA foafi=h aRedeiter
AT ST A

Trefadsh! & foud ygy wd=n

TETHREE TR TR ?

Trell fooiean Hharemyd g W

faer

() YRY HEdA el fhaa wiendl o/ d

(i) UG ThidY IUGH IR hidwd

(i) a1 ISR ggr=n Higa §e

THEY B

(iv) U FFAY IR SR LA
(A) (&), (i) AT (iv)

(B) (i) M (1) e

(C) (i1) M0 (iii) ek

D) @), (i) 3 (i)
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72. In the equation Cp = kYp, k is

determined by .................. .
() Interest Rate

(@1) The Proportion of Non-human
Wealth to Human Wealth

(z11) Desire to add to One’s Wealth
(iv) Inflation Rate

(v) Permanent Income

(A) (@), (i) and (i)

(B) (@) and (i7)

(C) (i) and (v)

(D) @), (Gv) and (v)

72.

JUN - 11225/IT1—C
Cp = kYp I HHIHUMHEA, k &1 5h
.................. W ﬁa.i\.ﬁa. T:BF-” W‘
(1) &N I
(i) A U AT GO ST
THIIT

(i) TETATE WUl Sefauar 3o
(iv) AT &

(v) TR IAH

(A) @), @) =for (i)

(B) () 3o (i)

(C) (i) 3 (jv)

D) (D), () 3 (v)

73. Which is the short run Keynesian | 73. TICICiUh! iU herel SFeqehrci ST
consumption function ? e A ?
(A) C =a+ by (A) C =a + by
B) C =a-DbY (B) C =a-DbY
(C) C =bY (C) C =DbY
(D) C = abY (D) C = abY
74. When income of individuals or | 74. S8l =il fehell hemel Sed=1 HHl €Il
households falls, their consumption qegT =1 SUGT T A YHOM S
expenditure does not fall to that B ARl T T Y WU
extent. This is known as ............... .
(A) YA 9ROy
(A) Demonstration Effect
(B) Income Effect (B)
(C) Ratchet Effect (C) Wiz uiumH
(D) Uprise Effect (D) 3o aRumH
35 [=] 5=
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75. Choose the correct statement :

(A)

(B)

©

(D)

Transfer Payments and Net
Interest Payments on public
debt are included as payment
in Foreign Account in Social

Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as payment
in Consumption Account in

Social Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as receipts
in Capital Account in Social

Accounting System

Transfer Payments and Net
Interest Payments on public
debt are included as receipts in
Consumption Account in Social

Accounting System

JUN -11225/11—C

75. IR faum fesEn

(A)

(B)

(®)

(D)

BT SFeh o HESI ek hstoid]

fTedes =TT S geh, WHISTh SiElieh

JEHUdIdiel TS |CIMHE Qeh
WA FHIfIsE Fdrd

T ST F WSSk helaiid]

fTedes TS Gdeh, ATHIST IEleh
TR SUENT WA QFeh

RUA IO gad

: N N [ (Y
SXIALUT G ¥h d HIASI[eh eh S

fedes TSl Geh, ATHISIh TIeleh
TR TSaet Taed STaeh
RUA IO gad

BT ST & HIESIeh shoiiaiie

ees S <a%h, AT @R

qeHdrdiel YU TTATHES  3TTeleh

RUH GHISE B
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76.

77.

78.

Which of the following statements

is false ?

(A) India experienced the dual
exchange rate system

(B) Indian rupee was linked with

Pound Sterling

(C) India is the founding member

of IMF

(D) India is using flexible exchange

rate system since independence

In the Keynesian range of the LM

CUIVE ..oeereveenaennns .
(A) Monetary Policy is fully effective
(B) Fiscal Policy is ineffective
(C) Both (A) and (B) are true

(D) Both (A) and (B) are false

Balanced Budget Multiplier (BBM)
states that, if government spending
and taxes change in equal amount,
then income will change by an

amount equal to change in

76.

77.

78.

JUN - 11225/11—C
TIEAcUsh! RV o™ s e ?
(A) Ram=d gl faf g < ggdt Bt
(B) YR 01 8 U&e il Hied
o B
(C) 9N & IMF =1 HeAT9eh HSH 390
e
(D) YRAH WAANEA da<i® fafma

T UgdrE WihR el 378

(A) Tifseh &R0 qoiosr guret X

(B) US&hISE &R0 q9E! T9d

(C) (A) anfor (B) & <ra! faum s’isr
3Ted

(D) (A) 3for (B) & <rat faem ehi=it
e

Hqferd steigshed U (BBM) 318 T2

FHIA I, SR IHRT TF A HL FHH

TRHAL FGae]; TR SAAME TRRT

T FeaAl ThHTHR Jad alsd ST

government expenditure and the TTIEFI% Hog 3.
value of multiplier will be ............ .

A) 1
A1

(B) 0.5
(B) 0.5
(C) 3.5 (C) 35
D) 3 (D) 3
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79.

80.

mm

The ratio of cumulative loss of GDP
(as a result of disinflation policy) to
the reduction of inflation that is

actually achieved is .................. .

(A) Inflation-Unemployment Trade-

off
(B) Sacrifice Ratio
(C) Growth-Inflation Trade-off
(D) Growth-Price Trade-off

Which of the following are not the

classical principles ?
@)
73]

Supply is equal to Demand

Money is used as a Store of
Value

(i17) Interest Rate is Flexible

(v)

Capitalist Economy is not self-

equilibrating

()

No government intervention in

an economy
(A) () and (i)
(B) (i) and (iii)
(C) Only (i)

(D) @) and (iv)

79.

80.

JUN - 11225/T1—C
TATaTefaUE] TS T TSI
SR STeiell Fordl B S =e-
RS G e £ = A | 1 [ B RIS R

~

SUIEISEERE

(A) TAfoR-d

(B) @M YOI
(C) IH-TeAfaER e

(D) IE-fRrma ToeeH

ETeterdsh] HITd faem™ garaTaet
AAET= T 99d ATl ?

(i) TSI B HETON FAhra STEAl

(i) 1 B HeaEEAT e WU S
SIall

(iif) SATSIGY AR 3Tl

(iv) WSTRIEl ALdATE TWIEG A
T

(v) NTATEIHE TIHTAT TEAT TEl
(A) (@) & (i)

(B) (i) 2o (iid)

(C) ®d (1)

D) (@) AT (v)
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81. Liquidity preference curve is 81. T T 9% @ 5|0|“|°hs,_\'1 S
downward sloping from left to right,
because .........cccou.ee. . eIl ARG ST S
(A) When the rate of interest is low, (A) Sree! TSR HHY 2T, I8l S5
the Central Bank reduces the .
ST UeET REe wH @
supply of money
(B) As rate of interest falls, the (B) =AM € sl Bral, UE e
opportunity cost of holding .
FHOITAT GEEETTY St B ARt
money does not change
(C) As rate of interest rises, the (C) =SI=m <X 0||<ad|,ﬁ@ U7 Sh{TIT=AT
opportunity cost of holdin .
PP d . gefeavy SEia 9@ B
money rises
(D) As rate of interest rises, the (D) =TS & A, T o FHvar=
tunit t of holdi .
opportunity cost of holding SN St SN
money falls
82. The technological relationship | 82 wieadl HeAdie s Mo Ieurg
between the change in capital stock qa@idel ged adiel dife geemen
and the change in the level of output
1 a:l_a. w.
is defined as ........ccccuuu. .
(A) The Output Coefficient (A) 3T F&UTh
(B) The Multiplier Coefficient (B) U eI
(C) Incremental Capital-Output )
Ratio (C) d@la HrSael-3cdre- UM
(D) Investment Multiplier (D) W RIGED
39 [m] 35 [
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83. People quickly form and revise their

mm

expectations using all available
information and intelligently predict
the changes in prices and form their
expectations on that basis. This

statement relates to ................ .
(A) Classical Theory

(B) Keynesian Theory

(C) Adaptive Expectations Approach
(D) Rational Expectations Approach

84. Which of the following is not an

example of negative externality ?
(A) Air pollution

(B) Vaccination

(C) Contamination of water

(D) Crime

83.

84.

JUN -11225/11—C

T IqAS] HIFEA =T ST he ok T

FYY @ TN I S0 GURAw;

T o STUNER A=A U IR

(A) FAaaR! fagem
(B) stk fagemd

(C) HReA eTuen g

(D) 7S e ghewn

EIcTUeh! hIUI SETELVN FhRIcHe ST

T ?

(A) 9 T

(B) RO

(C) droare gferitenol

(D) T=T
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85. Which of the following statements | g5 Wﬁ Foa fau goadiEa
is true in case of the principle of
: : TmEEd A e ?

equal marginal sacrifice ?

(A) Each taxpayer bears the same (A) 9P HIQMAT hITTEIHS HHM
absolute loss of utility from iy THEE TeT F
taxation

(B) Each taxpayer bears the tax (B) WeF IR HIEAT R SRIAHEN
burden in such a way that the HET LAl 1 hga Sca=r=t HHid
pre-tax marginal utility of e~ o

SYAIRTAT JHhTAI8] FHM 3T
income is the same for everyone

(C) Each taxpayer bears tax burden (C) W QM TN T SRIHRR
in such a way that the post-tax T L I HUW ST HHTT

inal utility of i is th N > 5 >
marginal utility of income is the
same for everyone

(D) Each taxpayer bears tax burden (D) WeIh QT HIA TR STRITRR
in Suchaway that the marginal g1 Rl Tm'ﬁ[ URZED q{l-cﬂ @'}:ﬁa‘
utility of all commodities is the

Y IYAINT YRS FHE ST
same for everyone
86. In a closed economy, if the marginal | 86. S STeieeREmEs, S HH SUUT et
propensity to consume is 0.75 and 0.75 3T ST TET T T 30% 3T,

the average tax rate is 30%, what .

T TR T U 3R fohar g

would be the size or the value of : K

the government expenditure el I8A ?

multiplier ? (A) 3.2

(A) 3.2

B) 21

B) 21

(C) 4.25 (C) 4.25

(D) 3.1 (D) 3.1
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88.

89.

mm

According to the union budget
2023-24, total transfers to the states
and union territories are estimated

of total public

expenditure for the financial year
2023-24.

(A) 37.36%
(B) 41.36%
(C) 44.36%
(D) 31.36%

When individuals with unequal tax
paying ability are taxed unequally
in order to equalise the sacrifice is
called :

(A) Horizontal equity
(B) Vertical equity
(C) Taxable capacity

(D) Tax avoidance

Which of the following is an example
of built in flexibility ?

(A) Welfare grants
(B) Infrastructure spending
(C) Fiscal deficit

(D) Unemployment insurance

87.

88.

89.

JUN - 11225/II—C
S TR 2023-24 THR, 2023-24
1 onfefer autaed T enfor Shgenfad
TR hefl STOTRT TR FEAaRor THY

reSi-Teh T

1R

(A) 37.36%
(B) 41.36%
(C) 44.36%
(D) 31.36%

UM HIST &THAT AU TR
SHHATT hIQUIHIU[ hi W W

(A) &fTs wwa
(B) SRS FHal
(C) <A &l
(D) HTFRAM

Tefteryeh sTafifed aatashd=n Tt
3Mes@n :

(A) FAHRT STIEH

(B) HoIYd SHIEAEG T
(C) forita qe

(D) SUSTR - 9=

42



90.

91.

Balanced Budget Multiplier works

only if :

(A) Transfer payments are zero
(B) AY/AG is negative

(C) Taxes are regressive

(D) Tax base is small

Arrange the following in descending
order according to the extent of
expenditure of Union Government in
Budget 2023-24.

(1) Central Sector Schemes

(i1) Interest Payments

(Iiz) States’ share of taxes and duties

(tv) Centrally sponsored schemes

Options :

A @ @G G Go)
B) Gi) @) @ Qo)
©) @ @) @ (o)
D) Gv) @) @ @)

90.

91.

JUN - 11225/I1—C

Hferd STeTSTIaeh TUIeh awd @eierdeh!
v qRIEedd Joamd ad ?

(A) THART 3T A A
(B) AY/AG RUTCH: 3THd
(C) wfart =

(D) HAifed HUHER

a

2023-24 HIAHAT ol

STIFRTITTIR

qTeSITeh TaTel ST ShAT HISUT .
() HE-TF T

(ii) AT

(ii) T M AR HEYeIde TS

EIE

(iv) &S TEHA TH

g

A @ @) @) Go)
B) Gi) @) @ Gv)
©) @ @) @ Gv)
D) G@v) @) @) @
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92.

93.

mm

The Kelkar

recommendations are related to :
(A)
(B)

Committee

Fiscal consolidation

Guidelines for the privatization
of PSUs

©
D)

Power sector reforms
Tax incidence

Diffusion theory of tax incidence
states that :

() Tax burden is shifted and
reshifted until it is spread

throughout the society

(1) Possibility of diffusion of the tax

burden is more in indirect taxes

(zii) New taxes are preferable than

old taxes

(iv) Tax diffusion deals with tax

incidence.

Which of the above statement/

statements is/are correct ?
Options :

(A) Only (iit)

(B) (), Gi), (iv)

(C) (i) and (iii)

(D) Only ()

92.

93.

JUN -11225/11—C

Thooeh? Wit FTwReT qeterient wmeft
wafaq omed ?

(A) fa=ita wersieno

(B) WIHI STEATIA=AT @ISR oM
EIUEN T

(C) Ss1 &rdiel gemon

(D) IETd
FHEEE TR fagaTan

() U B GHNT TIAGRG ST

qAEYaRd Bid el

(i) STHAE] AT HIAT HIETAr
TR VA YRl iR 3TEd

(iif) 719 T T AT AU Tfeeh FhT
3T

(jv) TR THRET HIEERT e
3Tl

eleTeh! ShIUTd TaE/<hTord faem ske]
aed ?

i

(A) ®e (i)
(B) @), (i), (iv)
(C) (i) 3fr (idi)

(D) % (1)




94. According to Harrod model, the

natural rate of the growth is
determined by the current growth

rate of the working population and

JUN - 11225/I1—C

94, e YfmMHER, gg=n @il

FERA TAh A AT &I &L S

current potential for ................. i e @
Progress (A) anfefem
(A) Economic
(B) Social (B)
(C) Technical (C) T
(D) Socio-economic (D) QTSR - AT YR
95. What is correct sequence of stages | g5 e} e a1files 9t gt ST
in the Marxian theory of economic a2
growth ?
(1) Slavery @) e
(2) Capitalism (2) e
(3) Primitive communism (3) SMeH e
(4) Feudalism (4) SIS
(5) Socialism (5) HHSER
(6) Communism (6) 9r=FA]
(A) (1)~(2)~(3)(4)~(5)~(6) (&) (D)~2)~3)~4)~(5)~(6)
(B) (1)~(4)~(5)(2)~(3)~(6) (B) (1)~4)~(5)-(2)~(3)~(6)
© B-H-(D-6)-2)-5) (©) B~(D~4)~(6)~(2)~(5)
@) @HD-D-2)-5)-(6) D) B)~(1—(4)~2)~(5)~(6)
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96.

97.

mm

Which growth model inspired the
use of capital-output ratio for

development planning ?

(A) The Harrod-Domar model
(B) Solow’s model

(C) Kaldor’s model

(D) Feldman’s model

How does neoliberalism affect

economic growth ?

(A) Free market - economic
freedom — allocative efficiency

— economic growth

(B) Market regulation — fiscal

intervention — market

distortion — economic growth

(C) Market regulation -
displacement — social change —

economic growth

(D) Free market — social barriers —
efficient society — economic

growth

96.

97.

JUN -11225/11—C

foehTaTcR e RSS! Haea ST
IS YA iead-3aeA  TUIRRE
A Hel T ?

(A) Te-Sm haHH

(B) Wit wfeqw

(C) heeR HfqH M

(D) wesHd Ffa ™

TACRATAR  Md FGaX HIMIRR
gure qredr ?

(A) I 9NIR I — Ik A=
— hEeW Gy — 3 ol

(B) Tl SR — USRI EXMcHeh
THHY — aR ot — snfefew
g3t

(C) TEf R — forems — |rifSes
aed — AE g

(D) 9K AR FAU — HEISh deH
— FEyd AN — Ifde gar
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98.

99.

100.

Kenya was the first country where
................... model was implemented
to control the high unemployment
in their cities.

(A) Lewis model
(B) Harris—Todaro model
(C) Cobb—Douglas production theory

(D) Unbalanced growth theory
The Solow growth model describes :

(A) How output is determined at a

point in time

(B) How output is determined with
fixed amount of labour and

capital

(C) How saving, population growth
and technological change affect

output over time

(D) The static allocation, production

and distribution of the economy’s
output

According to Joan Robinson’s Golden
Age equilibrium model, national

income is the sum of :

(A) Total wage bill and total profit
(B) Total output and total demand
(C) Total capital and total labour

(D) Total rent and total inputs

98.

99.

100.

JUN - 11225/11—C
&L SRS fHEoma STorvarEnal ssi=an

7 9 Haid gfecdiel 91 Sfadren ST

el el

(A) e HfqaH

(B) BRH—<re/ HfdHME

(C) wla—TTa® 3T fagid

(D) swgfaa g&i g

ST FGr= dal TEHER 7 foee
;I

(A) IARA e fafirse fogan frafo
B) #m srfor wiegarsar fAfv=q
RATTIER Seqrer= it
(C) ==, AREEA a1 S0 TR

ST IAEATER TR &1 Bl

(D) AfFIEIdA S Tifqes drey
I 3T foraxo

S fewa Arean gaoi 40 gadd
THgaIER U 3= R/
EUCNE R

(A) TR FqF ST THI AR

(B) TeHU IURA SM0T THU HAFTT
(C) THY wEdd ST THU 5|
(D) THY TE ST TH ARH

e



ROUGH WORK
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